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2A: A=
Mo S8HOI AZHEY FX
ol SSFE 222G (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
202 04| 2,352 2,35
01 ZLH0iH| 2,352 2,352
O Zsx4g EZ0i|
70,0002 *424x12270/100 2,352
308 XX EHHI SO 3,740 1,000 2,740
13 S| 2SO0l CHEH & X9 EFATI | 3,740 1,000 2,740
O ZS=« Ygs| 3,740
ZeFape| YA 327,000 120,000 207,000
S 87,000
z 240,000
402 RIZERH=OIE 327,000 120,000 207,000
S 87,000
= 240,000
01 QX2 A 2 X (RHRITHE) 240,000 120,000 120,000
O ZESF22| YA 240,000
02 QIIGHE A 2 (O1MTHE) 87,000 0 87,000
O & XAU=E FOIFN 0l 87.000
-ae HOIIE IHS2 EXITA 30,000
S 30,000
~AR BAOHIIE S4F YABAL 27,000
=3 27,000
-25 FZOMIE HH &XIBA 30,000
=S 30,000
TSFY JHI22X S FHAL B2 XA 20,000 20,000 0
S 6,000
z 14,000
402 RIZFAHZ0I A 20,000 20,000 0
=S 6,000
2 14,000
02 QIIGHE A 2 (OIMTHE) 20,000 20,000 0
O ZS=< JHI2EX S SNAIL
SAS KA
5,000,000 =44 £+ K| 20,000
=3 6,000
z 14,000
ARE BESES MEEA I ALY 5,000 5,000 0
S 1,500
z 3,500
401 AAEHILSTHY| 5,000 5,000 0
S 1,500
z 3,500
01 Al&HI 5,000 5,000 0
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SA AFY
M 52X AZWE =X
ol SSFE 2Ac=2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O 212 S8 d&atF A
(AHNEH) 5,000
= 1,500
Ea 3,500
ol =T ALAME EX 0 438,437 438,437
401 Al HIZ S 0HHI 438,437 438,437
01 AlZ28| 438,437 438,437
O &dl d==== EX il 438,437
FHEH OHE & MBI o F 6,757,552 6,130,612 626,940
= 5,277,610
7l 66,000
=S 459,880
s 954,062
HASE FHEE MY 6,336,552 5,804,612 531,940
= 5,228,610
Jl 66,000
< 446,880
= 595,062
F=HE0 5,673,000 5,138,750 534,250
= 5,106,000
== 396,900
o 170,100
301 22N 4,973,000 4,438,750 534,250
= 4,476,000
= 347,900
o 149,100
01 Al 2E A S(FREXM) 4,973,000 4,438,750 534,250
O FHNS0(SBXSA) 4,973,000
= 4,476,000
= 347,900
Ea 149,100
403 AXIEHHSAH=01d 700,000 700,000 0
= 630,000
= 49,000
Ea 21,000
02 SISOt =2 A P E A I 700,000 700,000 0
O FHS0(=EFXS0) 700,000
= 630,000
= 49,000
= 21,000
HHAZAN SAISEXNE A 145,660 54,000 91,660
= 97,510
= 29,250
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2A:
PSER
o e

=aak

Ofl &F2H

MEE
Ofl &k2h

H

18,900

Mo W

145,660
97,510
29,250
18,900

54,000

91,660

Mo W

145,660
145,660
97,510
29,250
18,900

54,000

91,660

Mo

10,200
5,100
1,530
3,570

2,730

7,470

HH W

10,200
5,100
1,530
3,570

2,730

7,470

HoH W

10,200
10,200
5,100
1,530
3,570

2,730

7,470

99,000

100,000

21,000

99,000

100,000

21,000

9,900,000 * 10AICH

99,000

99,000

100,000

21,000

FAHAFLHES OIAHI XIRAMY

hoH

2,000
1,000
1,000

2,000

hoH

2,000
1,000
1,000

2,000

Mo

2,000
2,000
1,000
1,000

2,000

S

H

132,000
66,000
66,000

170,000

238,000

Il

132,000
66,000

170,000

A38,000
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2A:

ral=g;
Hu: FHEY RS L M FH O
=Rl NASE FHEE il (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 12,500
s 12,500
SE FAHSE e X2 421,000 326,000 95,000
= 49,000
< 13,000
= 369,000
sEUE UM (HEALY) 300,000 300,000
402 QI2F X201 & 300,000 300,000
02 QI X2 AL EE(0IETHE) 300,000 300,000
O =& ud ZHIAY 300,000
SE HIF=AES 2 ZHIAE 26,000 26,000 0
= 13,000
o 13,000
402 2I2F X201 & 26,000 26,000 0
== 13,000
o 13,000
02 QI EASEZ(0IETHR) 26,000 26,000 0
O s& HIF=HE gdgt| 26,000
< 13,000
= 13,000
S EHIAIS 25,000 0 25,000
201 Ler=23| 2,500 2,500
01 At2teltl 2,500 2,500
O SHYT BHWIIS4R
1,250,0002 25 2,500
308 AtXIEHMSOIE 2,500 2,500
13 SI[2SOHe & EAS A 2,500 2,500
O SHUIY LML BDR
1,250,000& x2& 2,500
401 AlZHIZL SO 20,000 20,000
01 Al&H| 19,786 19,786
O Sdud & 19,786
03 AIZ 2 THYI 214 0 214
O S3udg il 19,786,000&+1.08/100 214
S S d2NLAE 70,000 0 70,000
= 49,000
[Ea 21,000
401 A2 HIRL 201 70,000 0 70,000
= 49,000
s 21,000
01 Al&H| 69,252 0 69,252
O B3l Z2HEA 69,252
= 48,559
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SA AFY
M ZHEE HE L A ) o1F
SR & =3 oid NE (SH9 H2)
M- B SRASH) - HRAR - B2 of v e HIDE2
[Ea 20,693
03 AlESTHYI 748 0 748
O BIEEHl B20HEA
69,252,000& +1.08/100 748
= 441
= 307
SEHe g gF = 26,816 17,216 9,600
S8 jgd Wast=d 26,816 17,216 9,600
e 2= 6,440 6,440 0
202 04| 6,440 6,440 0
01 201 6.440 6.440 0
O Mzssie S5 o)
70,0003 x5 «12& x70/100 2,940
O el A2z 55
20,0002 *5% %508 +70/100 3,500
A (MY 29 20,376 10,776 9,600
201 er2 3| 10,776 10,776 0
01 AtR2t2|HI 10,776 10,776 0
O ZA=RA2E(M2n) 34 =g
70,0002 x10H %122 8,400
O ZAH&AZE (M=) 228 7L
198,000& * 122 2,376
405 AHaHE = 9,600 0 9,600
01 ML ESFSHI 9,600 0 9,600
O ZA=?I23 (M) &8 FHl 2
80,0003 *12H 9,600
HY2AZHI(AFM) 55,526 47,585 7,941
=34 55,526 47,585 7,941
Jl=3H] 556,526 47,585 7,941
201 er23| 31,070 23,129 7,941
01 At2teltl 24,570 17,129 7,441
O At=2telt] 27,300,000 *90/100 24,570
02 S3=gHl 6,500 6,000 500
O s&=4l 6,500
202 04| 19,65 19,656
01 =LHOLI 19,656 19,656
O =0 90,0002 x26Z *12&+70/100 19,656
203 HR=H] 4,800 4,800
M EA2ER=AH 4,800 4,800
O A=U=2E R4
400,000 12& 4,800
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